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QUESTION 1

A user is part of the Employees LDAP group synchronized with AEM. The same user is added to the authors group in
AEM. The user is then removed from the Employees group on the LDAP server. 

What is the result during the next synchronization with AEM? 

A. The user is removed from both the Employees and the AEM authors groups 

B. The user is removed from the authors group but not the Employees group in AEM 

C. The user is removed from the Employees group but not the authors group in AEM 

D. The user is not removed from either the Employees and the AEM authors groups 

Correct Answer: A 

 

QUESTION 2

An Architect needs to design a deployment process without downtime for end users. The system architecture contains
an AEM author, two AEM publishers, two publish Dispatchers, and a centrally managed load balancer. The publishers
serve some content that cannot be cached. 

Which two actions should the Architect take to meet these requirements? (Choose two.) 

A. Connect each publish Dispatcher to one AEM publish 

B. Use each publish Dispatcher to load-balance to both AEM publishers 

C. Deploy software packages by replicating them from author to publishers 

D. Configure the centrally managed load balancer to connect directly to the AEM publisher that is not being dedKyed to 

E. Deploy software package to AEM Publishers one by one 

Correct Answer: CD 

 

QUESTION 3

A client is in the discovery process for building a React native app, which is a single codebase that runs natively on iOS
and Android. The goal is to reduce development costs. The client wants to reduce content creation costs in the new
react Native app by reusing as much of the marketing content already publish in their AEM instance. 

What should the Architect recommend to meet this requirement? 

A. Experience Fragments 

B. OSGi Bundles 

C. Sling Resource Resolution 
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D. Content Fragments 

Correct Answer: C 

 

QUESTION 4

A new AEM Sites implementation includes a component that lists the 10 most recently published PDF documents in
AEM Assets. The component works as expected during development and passes QA testing. The business starts to use
it while entering content and uploading assets in preparation for go-live. A few days later, the component\\'s PDF list is
empty. 

What is the most likely cause of the issue? 

A. A PDF with too large file size has been uploaded. 

B. The component is missing a matching Oak index. 

C. The component is missing the HTL display context to escape the PDF title. 

D. A PDF with incorrect MIME type has been uploaded. 

Correct Answer: A 

 

QUESTION 5

Users report cases where data inaccuracies are present in an AEM component that relies on AEM Search functionality.
The AEM platform utilizes Lucene as its main search engine. How should an Architect resolve this issue? 

A. Add search indexes to Lucene search engine 

B. Change the search engine to Property Search 

C. Scale up server resources to meet demands 

D. Migrate search engine to an external Solr instance 

Correct Answer: A 
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